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Q.1) Answer any two of the following : [12]

(@ What message does Tagore give through the poem ‘Leave this
Chanting and Telling of Beads’ ?

(b) Which decisions does Sigaev take throughout the story ‘The
Avenger’ ?

(c) Comment on the title “The Second Crucifixion’.

(d) Attempt a brief portrait of Baron Hausberg.

Q.2) Answer any three of the following in short : [12]
(@ Why are Jacopo and Nicola called the gentlemen of Verona ?
(b) Why does Margaret say that her son is “Worse to me than dead’ ?
(c) Attempt a brief character sketch of Uncle Podger.
(d) Comment on the title of the poem ‘All the Worlds a Stage’.

(e) Describe different tricks performed by the conjurer in the
beginning of the story.

()  Why does Robert Herrick say that life is short and time is
flying ?
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Q.3) Attempt any two of the following : [12]

(@) Write a paragraph on what life would be after ten years from
now.

(b) You and your friend are talking about job opportunities after
B.Com. Write a dialogue on this situation.

(¢) Your younger brother has failed in H.S.C. Examination. Write
a letter to your father about his failure.

(d) Explain your point of view on the following topic :

‘Books are the best teachers.’

Q.4) Do as directed : (Any Six) [12]
(@ Fill in the blanks using suitable words given in the brackets :

(i) Ram is presenting on ‘The Role of Rural Banks
in Agriculture Sector’.

[paper / a paper]
(i) My flight to Mount Everest was in itself.
[an experience / experience]
(b) Use phrasal verbs appropriately in the following sentence :

Now | my lost friend. You are requested to
the matter.

[look into / look for]

(c) Construct a meaningful sentence using the following words in
any order :

poison, die, adulterated.

(d) Give synonyms of the following words :
(i)  mighty
(i) remote
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(€)

Give short forms of the following words :
(i) Rupees
(i) Managing Director

()  Make words by using following prefixes :
(i)  super
(i) dis
() Make adjectives from the following words :
(i) magic
(i) fear
(h)  Fill in the blanks choosing a suitable word from the brackets :
(i) Did you make the payment by a ?
[check / cheque]
(i)  The Government’s Policy includes certain
projects.
[Economic / Economical]
(i) Make a sentence using the phrasal verb given below :
carry on
Q.5) Do as directed : (Any Six) [12]
(@ You will meet him and stand by him.
[Make it an imperative]
(b) Complete the following sentence using a suitable relative clause.
| studied the file
(c) Simita’s sister visits her.
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(d) He said, “lI was never able to give her the opportunity.”
[Change it into indirect speech]

() I should do much better to kill him.
[Add a question tag]

()  The conjurer threw away the watch.
[Change voice]

() Complete sentence appropriately :
If | go there in time,

(h) They listen to you.
[Make a question using do/does]

(i)  Well what is it asked the principal.
[Punctuate and rewrite]

(j)) Write a sentence that begins with :

‘I would
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F. Y. B. Com. Examination - 2010
FINANCIAL ACCOUNTING
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) Objective type questions :
(@ True or False : (Any Six) [06]

(i)  Accounting Standard No. 2 deals with disclosure of
Accounting Policies.

(i)  Any change in relations of the partners will result in the
reconstitution of a partnership firm.

(i) As per Partnership Act, capital deficiency of insolvent
partner is shared by solvent partners in their capital ratio.

(iv)  University of Pune is the example of Governmental, Not
for Profit Organisation.

(v)  Overriding Commission is paid to consignee for bearing
the loss on account of bad debts.

(vi) Hire Purchase Act, 1972 is applicable to the whole of India
except the State of Jammu and Kashmir.

(vi) “Tally’ is Prepackage Accounting Software.
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(b)

[3869]-102

Fill in the blanks from the brackets : (Any Six) [06]

()

(i)

(i)

(iv)

v)

(i)

(vii)

(viii)

Accounting for Environment and Ecology is a part of
Accounting.

[Financial, Cost, Social Responsibility]

Dissolution Expenses are credited to
Account, if paid by cheque.

[Cash, Revaluation, Bank]
Loss due to insolvency of a partner is a loss.
[Revenue, Capital, None of these]

Under Method, the purchasing company
agrees to pay a fixed amount as purchase consideration.

[Net Asset, Fixed Asset, Lump Sum]

Transactions are not recorded in Receipts and
Payments Account.

[Cash, Credit, Cash and Credit]

Goods sent on Consignment Account is
Account.

[Personal, Nominal, Real]

Royalty Payable on Sales Basis is debited to
Account.

[Trading, Profit and Loss, Manufacturing]
Accounting saves a lot of monotonous labour.

[Cost, Management, Computerised]
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(c) Write short notes : (Any Three) [12]
(i) Branches of Accounting
(i) Reasons for Dissolution
(i) Contents of Hire Purchase Agreement
(iv) Salient features of a Computerised Accounting System

Q.2) Ajay, Vijay and Prajay were partners sharing profits and losses in the
ratio of 4 : 3 : 1 respectively. Their balance sheet as on 31st March,
2009 was as follows :

Liabilities Rs. Assets Rs.
Capital Account : Plant 60,000
Ajay 70,000 | Furniture 20,000
Vijay 30,000 | Stock 55,000
Prajay 50,000 | Debtors 60,000
Loan from Ajay 10,000
Bank Loan (secured by
a floating charge) 8,750
Creditors 26,250
1,95,000 1,95,000

They decided to dissolve the firm. The assets were realised gradually
and the net amounts were distributed immediately as given below :

Date of Realisation | Gross Amount Realised | Expenses Paid
2009 Rs. Rs.

May, 20 22,000 2,000

July, 30 16,800 1,800

September, 20 38,000 3,000

November, 15 45,000 5,000

December, 31 72,000 7,000

Prepare a statement showing distribution of cash as per Maximum Loss

Method. Apply rules of Garner Vs. Murray’s Case. [16]

OR
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Q.2) Rohit and Mohit together and Sumit independently were carrying on
business and their Balance Sheet as on 31-3-2009 was as follows :

Balance Sheet as on 31-03-2009

Liabilities Rohit| Sumit | Assets Rohit | Sumit
and and
Mohit Mohit
Creditors 10,000 | 16,000 | Cash 7,000 2,000
Bills Payable 12,000 — | Debtors 14,000 | 36,000
General Reserve 15,000 — | Stock 22,000 | 12,000
Bank Overdraft —| 13,000 | Investments — | 12,000
Capitals : Motor Car - 9,000
Rohit 30,000 — | Machinery 38,000
Mohit 40,000 — | Building 26,000
Sumit —| 42,000
1,07,000 | 71,000 1,07,000 | 71,000
Rohit and Mohit are sharing profits and losses in the proportion of
3 : 2. The firms were amalgamated on 1st April, 2009 on the following
terms :
(1) The goodwill of Sumit is valued at Rs. 7,000 and that of Rohit
and Mohit Rs. 12,000.
(2) Provision of 5% to be made on all debtors.
(3) Stock of Rohit and Mohit to be depreciated by 7*/,% and that
of Sumit by 5%.
(4) Machinery and Building be taken at Rs. 42,000 and Rs. 30,000
respectively.
(5) Motor Car is sold for Rs. 7,500 after amalgamation. The loss
iIs to be borne by all the partners.
(6) Investment be taken at Rs. 16,000.
(7) Value of Goodwill to be maintained at Rs. 16,000 in the New
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(8)

Firm.

Capital of the New Firm should be Rs. 1,40,000 out of which
Rs. 1,00,000 should be held by Rohit and Mohit equally.
Adjustment is to be made through Current Accounts.

Prepare Revaluation Accounts and Capital Accounts in the books of
both the parties and also prepare Opening Balance Sheet of the New

[16]

Q.3) (A) Neha and Sneha are in partnership sharing profits and losses in
the proportion of their capitals. Their Balance Sheet as on 31st
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December, 2009 was as under :
Balance Sheet as on 31

December, 2009

Liabilities Rs. | Assets Rs.
Capital Accounts : Cash in Hand 21,000
Neha 50,000 Investment 4,000
Sneha 25,000 | 75,000 | Machinery 40,000
Creditors 28,000 | Furniture 10,000
10% Bank Loan 9,000 [ Stock 21,000
Reserve 3,000 | Debtors 20,000
Less: R.D.D.1,000( 19,000
1,15,000 1,15,000

On 1st January, 2010 they decided to admit Ankita on the

following terms :

(1) Ankita should bring Rs. 18,000 as Capital for Y/ th share

of the firm.

(2) Goodwill should be raised at Rs. 9,000.
(3) Provision for bad debts on debtors is no longer required.
(4) Machinery is overvalued by Rs. 3,100 whereas furniture is

undervalued by Rs. 1,000.

(5) Investments are taken over by Sneha at an agreed price

of Rs. 6,000.

(6) Interest on Bank Loan is outstanding for last year.
(7) Revalue Stock at Rs. 15,000.

Prepare Revaluation Account, Partners Capital Account and Cash
Account in the books of New Firm after Ankita’s admission as

on 1st January, 2010.

[10]
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(B) Bombay Mining Company Ltd. took a mine on lease at a Royalty
of Re. 1 per tonne. The Minimum Rent was fixed at Rs. 4,000
for the first year, Rs. 6,000 for the second year and Rs. 8,000
per year thereafter.

Short working of any year could be recouped out of the Royalties
of next two years only. The production during the first four years
was as follows :

Year . 2006 2007 2008 2009
Output in Tonnes : 2,000 4,500 6,000 9,000

Pass necessary journal entries in the books of Bombay Mining
Company for the first four years. [10]

Q.4) The Income and Expenditure A/c. of Satara Cricket Club for 2009
was as under :

Income and Expenditure Alc.
for the year ending on 31-12-2009

Dr. Cr.

Expenditure Rs. Income Rs.
To Salaries 4,750 By Subscriptions 7,500
To General Expenses 500| By Entrance Fees 250
To Audit Fees 250( By Contribution for

Annual Dinner 1,000

To Secretary’s By Annual Sports

Honorarium 1,000 Meeting :
To Printing and Receipts 1,500

Stationery 450 Less : Exp. 750 750

To Annual Dinner EXxp. 1,500
To Interest and Bank

Charges 150

To Depreciation 300

To Surplus 600
9,500 9,500
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Additional Information :

(1)

(2)
(3)
(4)
()

(6)

Subscription outstanding at the end of year 2008 - Rs.

Subscription received in advance on 31st December, 2008 — Rs.

Subscription received in advance on 31st December, 2009 — Rs.
Subscription outstanding on 31st December, 2009 - Rs.

Salaries outstanding at the beginning of 2009 and at the end of
2009 were Rs. 400 and Rs. 450 respectively.

General Expenses include insurance prepaid to the extent of
Rs. 60.

Audit Fees for 2009 are yet unpaid. During 2009 the audit fees
for 2008 amounting to Rs. 200 were paid.

The club owned a freehold lease of ground valued at Rs. 10,000.
The club sports equipment on 1st January, 2009 valued at
Rs. 2,600. At the end of the year after depreciation the equipments
amounted to Rs. 2,700.

In 2008, the club had raised a bank loan of Rs. 2,000. This
was outstanding throughout 2008. On 31st December, 2009 cash
on hand amounted to Rs. 1,600.

Prepare Receipts and Payments A/c. for the year ended 31-12-2009
and Balance Sheet as on that date.

Q.4) (A)
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OR

Khurana Oils Mlls Saswad consigned 6,000 kgs of Sweet Qil
to Suraj of Sangamner. The Cost of Sweet Oil is Rs. 12 per
kg. The Consignor paid Rs. 6,000 for Carriage, Rs. 1,000 for
Octroi and Rs. 1,500 for Insurance.

During transit 300 kg of Sweet Oil was destroyed due to accident
for which Insurance Company paid Rs. 3,500 in full settlement
of the claim directly to the Consignee.

Suraj took delivery of the consignment and accepted the bill
drawn on him for Rs. 30,000. He sold 5060 kgs of Oil at
Rs. 16 per kg. The expenses being Godown Rent Rs. 600,
Advertisement Rs. 400 and Salesman Salary Rs. 800. He is
entitled to a Commission of 6% and 4% Del Creder Commission.

600
450
270
750

[20]
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(B)

Suraj reported a loss of 40 kgs due to leakage. He also settled
the amount due.

Prepare Consignment Account in the books of Consignor with
necessary working notes. [10]

On 1st January, 2005 ‘A’ Ltd. purchased a truck from ‘B’ Ltd.
under Hire Purchase System, Rs. 1,00,000 being paid on delivery
and balance in five instalments of Rs. 1,50,000 each payable
annually on 31st December. The Vendor Charges 5% interest p.a.
on yearly balances. The cash price of the truck was Rs. 7,50,000.
Prepare ‘B’ Ltd. Account in the books of A Ltd.

Calculations of Interest should be made nearest to Rs. 10. [10]
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[3869]-103
F. Y.B. Com. Examination - 2010

BUSINESS ECONOMICS (MICRO)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Functional Relationship ?
(2) What is Equation ?
(3) State the Law of Supply.
(4) What is an Indifference Curve ?
(5) Define Marginal Cost.
(6) State Internal Economies.
(7) What is Total Revenue ?
(8) State any two assumptions of Break-even Analysis.
(9) Define Price Discrimination.
(10) State any two methods of Pricing Practices.
(11) What is Real Wages ?
(12) Define Profit.
(13) What is Quasi Rent ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) What are the Non-economic Goals of Business Firm ?
(2) Explain the Law of Demand.
(3) Explain the Innovation Theory of Profit.
(4) State features of Oligopoly.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain various tools for Analysis.
(2) Explain the Law of Diminishing Marginal Utility.
(3) What are the main characteristics of Indifference Curve ?

(4) Discuss Liquidity Preference Theory of Interest.

Q.4) Answer the following in 300 words each : (Any Two) [30]

(1) What is the Price Elasticity of Demand ? Explain types of Price
Elasticity of Demand.

(2) State and explain the Law of Variable Proportions.
(3) What is Monopoly ? Explain Price Determination under Monopoly.

(4) Explain Ricardian Theory of Rent.
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Time :

[3869]-104

F. Y. B. Com. Examination - 2010
MATHEMATICS AND STATISTICS
(New 2008 Pattern)

3 Hours] [Max. Marks : 80

Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of logarithmic table and calculator is allowed.

(4) Both the sections should be written in the same answer-book.

SECTION - 1
Q.1) Attempt any four of the following : [2x4=08]
(@) Find Simple Interest on Rs. 10,000 for 2 years at 10% p.a.
(b) Explain the terms Dividend and Bonus Share.
(¢) Explain the terms Set and Subset.
2 5
(d IfA= {6 _3J , find 3A.
() Shade region defined by the inequality 4x + 2y < 16.
() If fiix) = x> - 3x + 2, find f(3). ’
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Q.2) Attempt any three of the following : [5x3=15]

(a) At what rate of simple interest will the amount Rs. 5,000 become
Rs. 7,000 in 4 years ?

(b) Which is the better investment 10% at Rs. 120 or 15% at
Rs. 140 ? Justify.

(c) Evaluate :
(1) x—tm o5 (x* + 3x + 5)

x> — 4

X — 2

(i) x_tm ,o

(d) Find inverse of the following matrix. -

ST

(¢) Find Equated Monthly Instalment (E.M.I.) on a loan of
Rs. 1,00,000 to be repaid in 10 years at 12% p.a. on the
outstanding amount at the begining of each month.

Given [(1.01)'*° = 3.30038]
Q.3) Attempt any three of the following : [5x3=15]

(a) What sum will amount to Rs. 20,000 in 4 years at 8% p.a.
compounded quarterly ?

(b) Find determinant of the matrix :

2 =7 1
A =13 2 -1
1 4 -3
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dy
(c) Ify=x*+4x + 1, then find i

(d) Solve the following L.P.P. by graphical method :
Minimize = 5x + 7y

Subject to 2x +y > 8

(e) Ify=x*+x+ 1), then find %
SECTION - II

Q.4) Attempt any two of the following : [2x2=04]
(a) Give real-life situation where systematic sampling can be used.

(b) Compute Range and Coefficient of Range for the data given
below :

52, 45, 60, 53, 48, 65, 42, 45, 60

(c) Explain the term ‘Positive Correlation’ with illustration.

(d) Find less than cumulative frequencies for the frequency
distribution given below :

Class 100-150 | 150-200 | 200-250 | 250-300 | 300-350
Frequency| 12 15 30 8 2
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Q.5) Attempt any three of the following : [5x3=15]
(a) State different problems in the construction of index numbers.
(b) Explain procedure of SRSWOR with illustration.
(c) Explain ‘Regression Lines’. Also state their point of intersection.

(d) Draw ‘Histogram’ for the following frequency distribution :

Turnover Number of
(in 00,000 Rs.) Firms
50 — 100 15
100 - 150 8
150 — 200 12
200 — 250 18
250 — 300 22
300 — 350 10
350 — 400 2

(e) Answer the questions using following frequency distribution of |
age of 50 citizens :

Age (years)| Below 30(31-40( 41-50| 51-60 | 61-70 | above 71
Frequency 3 7 - 16 8 2

(i)  State type of classification.

(i)  Identify Open End Classes and state them.
(111) Find missing frequency.

(iv) Find class-mark of fifth class.

(v) Obtain class boundaries of fourth class.
Q.6) Attempt any three of the following : [5x3=15]

(a) Obtain ‘Rank Correlation Coefficient’ for the results of beauty
contest :

Ranks by Judge A| 1 5 6| 7| 81 2 4 3
Ranks by Judge B| 1 7 6 | 2 8| 4 5 3
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(b) Find Mode for the following frequency distribution of income
of 70 workers :

Income (Rs) |Less than}1000-2000 |2000-3000|3000-4000{4000-5000{ Above
1000 5000

No. of Workers 08 14 13 25 07 03

(c) Given : X =80, Y= 50, 6, =15 06, = 10andy = -0.4.

Find line of regression of X on Y. Also estimate X when
Y = 60.

(d) Find Combined Standard Deviation from the following data :

Workers | Number | Average Salary |Standard Devation
Male 80 1520 06
Female 20 1420 05

(¢) Find value of X if for the following data Laspeyre’s Price Index
Number is 114.4 :

Commodity Price Base Year Quantity
Base Year|Current Year
A 36 40 100
B 80 90 12
C 45 41 X
D 5 6 1100
Q.7) Attempt any one of the following : [8x1=08]

(a) Calculate Karl - Pearson’s Coefticient of Correlation from the
following data :

Price 221 24 |26 | 28 |30 |32 |34 | 36 | 38| 40
Demand | 60 | 58 | 58 [ 50 | 48 | 48 | 48 | 42 | 36 | 32
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(b) (i) Calculate Coefficient of variation for the following data :
12, 18, 15, 20, 16
(ii) Obtain Mean, Median, Mode for the following data :
5, 8, 6,4, 10, 15, 18, 10 ,12
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[3869]-105
F. Y. B. Com. Examination - 2010
COMPUTER CONCEPT AND PROGRAMMING
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

(3) Both the sections should be written in the same answer-book.

SECTION - |

Q.1) Attempt any four of the following : [4x2=08]
(@ What is www (world wide web) ?
(b) Define Analog and Digital Computers.
(c) Define Search Engine.
(d) Define Disk Cleaning.
(e) Give name of the website which is related to Commerce.

(f)  What is Memory ? State its types.

Q.2) Attempt any four of the following : [4x4=16]
(@) Explain different generations of Computer.
(b) Explain Control Panel used in Windows O.S.

(c) What is Output Device ? Discuss Monitor and Speaker as Output
Devices.

(d)  Write short note on Power Point Presentation.
(e) Explain E-market with its disadvantages.

()  Explain Floppy and Hard Disk as External Storage Devices.
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Q.3) Attempt any four of the following : [4x4=16]
(@ Draw a Structure of Computer ? Explain all parts in brief.
(b) Explain elements/components of Windows O.S.
(c) What is Printer ? Explain different types of Printers.
(d) What is Internet and Intranet ? State their advantages.
(e) Explain characteristics of Computer.

()  Explain Electronic Data Interchange (EDI).

SECTION - Il

Q.4) Attempt any four of the following : [4x2=08]
(@) Define Assets and Liabilities.
(b) Define Capital Account.
(c) Define Impersonal Account. State its role.
(d) Define Order Processing.
() What do you mean by VAT Bills ?

()  What is an Inventory Allocation ?

Q.5) Attempt any four of the following : [4x4=16]
(@) Explain Invoice Entry.
(b) Explain Concept of Sub-groups.
(c) How to create a Sales Order ? Explain.
(d) How to create a journal voucher for TDS ?
() How to Alter and Modify a Company.
(f)  Explain Features of Tally.

[3869]-105 2 Contd.



Q.6) Attempt any four of the following : [4x4=16]
(@) Explain Chart of Account.
(b) Explain Profit and Loss Account.
(c) Explain Balance Sheet with example.
(d) How to create Debit and Credit Note for VAT.
(e) Explain Bill-wise Details.

() How to create a Purchase Order ?

[3869]-105/3



Total No. of Questions : 6] [Total No. of Printed Pages : 3

[3869]-105
AASt HATEAX
9% : 3 dM] [gspur aqor ;80
AT
(1) |F 997 FISIvr NTTF 3778,
(2) 3ISEIBSIT 3 geATd quf TOT FIfaar.
(3) gt 9T verg 3OviEed qisardd.
faamT - ¢
7.1) Jeidudl FHiUMal IR T WiEdT [4x2=08]

G www (T2 TEE W) BN B9
(@) FFEeT T Shiea FommmEr @ fd@r
(F) ‘e XA T ToTEr

(®) ‘T FRater= s i

() HIVETE I IIHTSS AT 0TS M THTieSa 3Ted ot =g
foTer.

(F) TR (AHY) FOTST HF ¢ I GHR T

¥.2) USICTUsh! HIUHE AR YT HiEdT [4x4=16]
(37) AT TS WIvTeRT fqEReT &
(@) IS TR goTeiEed i UAedT 9T ",

(F) IR TEEH TVUN FI ¢ Al T AP IWeTe I

Aed W FATHE  HA,
() U Uigedl = foer
(3) T-AThcd WSIHWOT IATAT dAlCAEE TS B,
(%) ‘Tt 5@ T TR @ T I8 TSR W TR0

foteT.
[3869]-105 5 P.T.O.




9.3) Yeldud! HiUdal IR T WEAT [4x4=16]

(37)  WATUTHTAY FAUTRT TCEIHIOT ITHT AT IURIOTHE TASCIHI0T 3MHd
.

(@) TSI qUT YOT=AT dTiedT 9chid [aior .

(F) U | S ¢ I YBHRED {iigdr =@,

(F) FHe T TgHe BWUN FE ? I BEUS (A&l

(3) OTHT IOTIH (oTEr.
(F) ‘TATR(® ST Fo™or TCIRIOT .

faamr - R
9.4) YEidud! FHiUMal IR T AqiEdT [4x2=08]
(1) “HIEAT T ‘SUAU™T IEAT {oTar.
(F) ‘Wigddl QAT AT @

(F) ITATHTT TC TN M ¢ I a9 oEr

(T) vEE (TS YE) Ypal TS .

o ’

(3) ‘I faew

BNl HI 9

() TRl TP IS B 9

9.5) Jeldds! HUdal IR GeT e [4x4=16]

(37) ‘TREH Ul WS d 9

() FEIYOE FHEAAT T B

(F) oo 3T HA TIR HEW AT TSIHIOT T

(3) TSI A6 TRA BEAOY A IR HA AT TISIRIT T,
(3) UG FIROT T T8 HH PN AT IS T,

(®) Sl A foter

[3869]-105 6 Contd.



9.6) Jelud! HiUMal IR T WEdT [4x4=16]
(37) ‘ITHES 3M® I°T TSIHIOT .
() wifthe T @M AHSCd TSIBT T,

(F) dTATIMTT IITEWMHE TSIHBIOT 1.

() dcHSt e g #fee A I @R FEE 9

(3) foaaR Afewy #Afedt f@Er
(®) ‘xS IMET FM TR FA@ o foTar

[3869]-105/7



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3869]-106
F. Y. B. Com. Examination - 2010

COMMERCIAL GEOGRAPHY
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Neat diagrams must be drawn wherever necessary.
(3) Use of map stencil is allowed.

Q.1) Answer the following upto 20 words each : (Any Ten) [20]
(1) Define Commercial Geography.
(2) Write any two names of Tertiary Economic Activities.
(3) What is Absolute Location ?
(4) Define Natural Resources.
(5) Give two examples of Non-renewable Resources.
(6) Mention any two Coniferous Forest Trees.
(7) State two characteristics of Equatorial Forests.
(8) What is Solar Energy ?
(9) What does Density of Population Mean ?
(10) Define Birth Rate.
(11) Mention any two factors of Industrial Location.
(12) Give any two disadvantages of Roads.
(13) Define Tourism.
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Q.2) Answer the following upto 50 words each : (Any Two) [10]
(1) Determinism
(2) Primary Economic Activity
(3) Economic Importance of Forests

(4) Iron and Steel Industry in India

Q.3) Answer the following upto 150 words each : (Any Two) [20]
(1) Write merits and demerits of Air Transport.
(2) Compare Commercial Farming and Subsistence Farming.
(3) Give an account of Weber’s Theory of Industrial Location.

(4) Mention advantages and disadvantages of Dot Method.

Q.4) Answer the following upto 300 words each : (Any Two) [30]
(1) Explain nature, scope and importance of Commercial Geography.
(2) Discuss Population Characteristics of India.
(3) Give an account of Geographical Factors influencing Tourism.

(4) Write notes on the factors affecting Location of Industries.
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[3869]-107

F. Y. B. Com. Examination - 2010
CO-OPERATION
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Answers should be precise and to the point.

Q.1) Answer the following in 20 words each : (Any Ten) [20]

(1) What is Co-operation ?

(2) What do you mean by Open Membership ?

(3) Define Principle of Economy.

(4) State causes of Slower Growth of Co-operatives before Inde-
pendence.

(5) Give two examples of Non-credit Co-operatives.

(6) State two qualities of Leadership in Co-operative Movement.

(7) Define Promoters.

(8) State two responsibilities of Promoters.

(9) What are Bye-laws ?

(10) State two drawbacks of Primary Agriculture Credit Co-operative
Society.

(11) State two duties of Registrar of Co-operative Societies.

(12) State steps of Registration of Co-operative Society.

(13) Give two examples of Urban Non-credit Co-operatives.
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Q.2) Answer the following in 50 words each : (Any Two)

1)
(2)

3)
(4)

Explain Nature of Co-operation.

Explain importance of the Principle of Limited Interest on
Capital.

Explain Promotion Process of Co-operative Society.

Explain Powers of Co-operative Registrar.

Q.3) Answer the following in 150 words each : (Any Two)

1)
(2)
3)
(4)

Explain problems of Co-operatives of Weaker Sections.
Explain features of Co-operative Societies Act, 1912.
Explain types of Amendments of Bye-laws.

Explain impact of Co-operatives Societies Act, 1925 on Primary
Agricultural Co-operative Societies.

Q.4) Answer the following in 300 words each: (Any Two)

1)
(2)

3)

(4)

Explain in detail the basic principles of Co-operation.

Explain role of State Government in Co-operative Movement in
Maharashtra.

Explain provisions and rules regarding Registration of
Co-operative Society as given in Maharashtra State Co-operative
Act, 1960.

State and explain various laws relating to Non-agricultural Credit
Co-operatives.
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[3869]-108

F. Y. B. Com. Examination - 2010
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
PAPER - |
DEFENCE ORGANISATION AND MANAGEMENT IN INDIA
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions :

(1) AIll questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) Define ‘Army’.
(2) Introduce ‘Navy’.
(3) What is “Air Force’ ?
(4) Write purpose of ASC.
(5) Write aim of AOC.
(6) Write role of EME.
(7) Name Commands of Indian Army.
(8) Name Commands of Indian Navy.
(9) Write functions of Vice Chief of Air Staff.
(10) Write responsibility of Chief of Naval Staff.
(11) Who is the present Chief of Army ?
(12) Who is the present Chief of Navy ?
(13) Who is the Supreme Commander ?
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Q.2) Answer in 50 words each : (Any Two) [10]
(1) Write about INS VIRAT.
(2) Write Development of Army after 1947.
(3) Why Military is necessary to a Nation ?
(4) Write role of Civil Defence.

Q.3) Answer in 150 words each : (Any Two) [20]
(1) Write about National Security Council.
(2) Write about Chief of Staff Committee.
(3) Explain significance of NCC as a Second Line of Defence.

(4) Explain characteristics, role and limitations of Infantry.

Q.4) Answer in 300 words each : (Any Two) [30]
(1) Explain principles of Defence Organisation.
(2) Write an essay on Administrative Services of Indian Army.
(3) Write an essay on Supporting Arms of Indian Navy.

(4) Explain characteristics, role and limitations of Indian Air Force.
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[3869]-109
F. Y. B. Com. Examination - 2010

BANKING AND FINANCE
(FUNDAMENTALS OF BANKING)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Bank.
(2) What is Liquidity ?
(3) What is No Frills Account ?
(4) What is meant by Demand Draft ?
(5) What is Specimen Signature ?
(6) What is Fixed Deposit ?
(7) What is Minor Account ?
(8) Define Promissory Note.
(9) What is Order Cheque ?
(10) What is Debit Card ?
(11) What is Net Banking ?
(12) What is full form of ‘SWIFT’ ?
(13) What is Credit Card ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State origin of the word ‘Bank’.
(2) Explain procedure for Transfer of Bank Account.
(3) State characteristics of ‘Promissory Note’.
(4) State importance of Technology in Banking.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain procedure of Opening and Operating Current Account
in the Bank.
(2) State various types of Institutional Accountholders of Bank.
(3) State Asset Side of Bank Balance Sheet.
(4) State various types of Endorsements.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail the Secondary Functions of Commercial Banks.
(2) Explain Methods of Remittances.
(3) What is Credit Creation ? Explain process and limitations of

(4)

Multiple Credit Creation.

What is Negotiable Instrument ? State definition and
characteristics of a Cheque.
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[3869]-110
F. Y. B. Com. Examination - 2010

MANAGERIAL ECONOMICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Business Forecasting ?
(2) What is Exception to the Law of Demand ?
(3) Define Demand.
(4) What is Variable Cost ?
(5) What is Investment for Expansion ?
(6) What is Cross Elasticity of Demand ?
(7) What is Marginal Cost ?
(8) Define Private Goods.
(9) What are Mergers ?
(10) What is Profit Maximization Objective of the Firm ?
(11) What is Markup Pricing ?
(12) Write two Determinants of Demand.

(13) What is Opportunity Cost ?
[3869]-110 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State and explain the Law of Demand.
(2) Explain need of Capital Budgeting.
(3) Explain importance of Elasticity of Demand in Business Decisions.
(4) Explain Investment Decision for Modernization.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain Concept of Payback Period.
(2) What is Income Elasticity of Demand ?
(3) Elaborate on Utility Maximization Objective of the Firm.
(4) Explain Barometric Indicators of Business Forecasting.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain Concept of Cost Benefit Analysis.
(2) What is Price Elasticity of Demand ? Explain various methods
to measure Price Elasticity of Demand.
(3) What are MNCs ? Explain role played by MNCs in the
Development of Indian Economy.
(4) Define Managerial Economics. Explain characteristics and scope

of Managerial Economics.
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[3869]-111
F. Y. B. Com. Examination - 2010

OFFICE MANAGEMENT AND SECRETARIAL PROCEDURES

Time : 3 Hours]

(New 2008 Pattern)

Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

[Max. Marks : 80

Q.1) Answer the following in 20 words each : (Any Ten)

(1)
(2)
(3)
(4)
)
(6)
(7)
(8)
©)
(10)
(11)
(12)
(13)

[3869]-111

What do you mean by an Office ?

What do you mean by Office Environment ?
Define Job Analysis.

What do you mean by Office Records ?
What is E-mail ?

What do you mean by Paperless Office ?
Define the term ‘Communication’.

What is Training ?

What do you mean by Confidential Report ?
What is meant by Courier Service ?

Define the term ‘Office Form’.

What do you mean by Quorum ?

Define Accounting Software.

[20]
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State elements of Office Management.
(2) State importance of Job Measurement.
(3) State methods of Training.
(4) Explain Procedure of Handling of Incoming Mail.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain factors responsible for choosing the location of an Office.
(2) Explain functions of Modern Office.
(3) Explain duties of Public Relation Office.
(4) Explain Contents of Office Manual.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Define the term ‘Index’. Describe various Methods of Indexing.
(2) Explain in details significance and barriers of Effective
Communication.
(3) Define Secretary. Explain various duties and responsibilities of
Secretary.
(4) Define Office Automation. Explain advantages and feasibility of

Office Automation.
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[3869]-112
F. Y. B. Com. Examination - 2010

ESSENTIALS OF E-COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Give illustrations wherever necessary.

SECTION - |
Q.1) Explain in brief any four of the following terms : [08]
@ IRC
(b) Trojan Horse
(c) Search Engine
(d) E-business
(e) Password
()  Firewall
Q.2) Answer any three of the following : [12]

(a) What do you understand by Encryption Process ?
(b) Explain briefly the following terms :

(1) Internet Naming Conventions

(i) Downloading
(c) Explain briefly the Secure E-payment Process Method.
(d) Define E-commerce. Explain advantages of E-commerce.
(e) What is B2B E-commerce ? Explain.
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Q.3) Answer any three of the following : [12]

(@) What is Internet ? Explain Procedure of Registering Internet
Domain.
(b) Explain Credit Cards as E-payment System. Explain its
disadvantages.
(c) Explain briefly the following terms :
(i) Digital Signature
(i)  Telnet
(d) Explain scope and limitations of E-commerce.
(e) Write a short note on B2C E-commerce.
SECTION - 11
Q.4) Explain in brief any four of the following terms : [08]
(a) Market Place
(b) E-finance
(c) Banners
(d) E-procurement
(e) Smart Card
(f)  Electronic Intermediaries
Q.5) Answer any three of the following : [15]
(@) What is Direct Marketing ?
(b)  Write a short note on On-line Booking Procedure of Airlines.
(c) Explain briefly the following term :
(i)  E-banking
(i)  E-ticketing
(d) Distinguish between Traditional Trading and E-trading.
(e) Explain Status of E-commerce in India.

[3860]-112
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Q.6. Answer any three of the following : [15]

(a) What are E-catalogues ? Explain benefits of E-catalogues.
(b) Write a short note on Future of E-commerce.

(c) Explain Seller Oriented Market Space.

(d) What is One-to-one Marketing ?

() What is Digital Economy ?

Q.7) Answer any one of the following : [10]

(a) What is E-advertising ? Explain various means of Advertising.

(b) Discuss problems and opportunities in E-commerce in India.
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[3869]-113

F. Y. B. Com. Examination - 2010
CONSUMER PROTECTION AND BUSINESS ETHICS
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Business Ethics’ ?

(2) Define the term ‘Food’ under Prevention of Food Adulteration
Act, 1954,

(3) State any three rights of Consumers under Standards of Weight
and Measures Act.

(4) What is meant by ‘Appropriate Government’ under Right to
Information Act.

(5) State any three grounds for rejection to access information in
certain cases.

(6) State any three types of Advertising.

(7) State any three responsibilities of Consumers.

(8) Define the term ‘Consumer Movement’.

(9) State any three limitations of Voluntary Consumer Organisation.
(10) State any three individual problems of Consumers.

(11) Define the term ‘Complaint’ under Consumer Protection Act,
1986.

(12) State any three problems related to Goods.

(13) State any three barriers in Development of Consumer Movement
in India.
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) State role of Voluntary Consumer Organisation in controlling
objectionable Advertisements.
(2) Write a note on National Consumer Redressal Forum.
(3) State ways to recognize Adulterated Food Articles.
(4) State importance of Business Ethics.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain methods and techniques of Consumer Education.
(2) Explain problems of consumers related deficiencies in Services.
(3) Explain features of Right to Information Act, 2005.
(4) Explain provisions regarding Packaged Commodities under
Standards of Weight and Measures Act.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain composition and role of District, State and National
Consumer Protection Council.
(2) Explain Role of Government in developing ‘Consumer
Movement’.
(3) Explain in detail Social Responsibilities of Business.
(4) Explain Rights of Consumers as regards Weight and Measures.

[3869]-113/2



Total No. of Questions : 4] [Total No. of Printed Pages : 2
[3869]-113

st TR
TEF RO I AT e

(AT j00¢ TaA)
9% : 3 dW] [gspur aqor ;80
AT
(1) |F g97 FISIor TITF 3778,
(2) ISEIBSIT 3 geATad qUf TOT FIfaar.
7.1) TEE WA Yt o EEid IWY foTEr o (FHIuTddr @) [20]

(1) ‘IEdgs A 'S S 9

(2) IFITHAS FIAEUH BEST, 948 TAR [ IAT Ferd TSAT .

(3) TSHATT URATT FEATER IEHd HIOTE i &ah FqM.
(4) HATEIMET MIHR FMATTEH FEGTTAR T AT O B 9

(5) HIEAl IMMUHR FHIATHAR AT ITS HIOGNIEAE I TIATS
El‘l ||0

(6) SEUAT HIUAE! di T WhR FE.

(7) UTEHT PHIOAE d9 JOES=T JE.

(8) UTEF <Kds RIS HI 9

(9) TIUEAT UYTed FWISAAT HBIOTATE! di9 FIET HET.

(10) UTEH=T FHIOTAE d9 JARFE THET T,

(11) 9Ted HWIT FEET, CETAR ‘THR I1T Ferd! ST .

(12) UTEHT=T q«ﬁ\qwm = JH™T 9.

(13) UTEF TATAT [THETAIA diF ISUS  F.
[3869]-113 3 P.T.O.



q.2) Tl WA Ydsht 4o &3 A f@@T @ (FIUE Ti) [10]

(1) STHUTE SMEqCreaT FEEumeed WaHal Jedh doe-dr g
El‘l ||0

(2) TS YTEH dpR AReT AN IR O e

(3) wHHIFd USTY 3IMeAvITd HET .

(4) SEEEE AfaHeT™ HEd WL

2.3) TMCle WA Yt 4o STeid 3Ia¥ foar : (FHiurddt i) [20]
(1) vTes Rerom=r et T dF T H

[a¥aN

(2) UTEH=T Il IIAYIE THET T B

(3) AT 3PN HIST, 004TT AR T FH.

(4) Y GRATOT FTfEH, 300E TER aRdfed SRiawEE aagal

e P,
7.4) TAIA G J&B! 3oo A I [1&T : (HIUTEr TiA) [30]
(1) TSer, 59 T TS IES S0 AREedr @A 9 qiEET W
hAT.

(2) UEH THTHAT TTHMECA AT JHBT T F4.

(3) TAEETAT FHISE SIS AR T H.

(4) UTEHT IO 9 URHOT qrarEad SRR TS H.

[3869]-113/4



Total No. of Questions : 4] [Total No. of Printed Pages : 2

[3869]-114
F. Y. B. Com. Examination - 2010

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Ten) [20]
(1) What is ‘Intrapreneur’ ?
(2) What is ‘Inflation” ?
(3) What is ‘Educational Environment” ?
(4) State Concept of ‘Business Environment’.
(5) Explain Concept of ‘Poverty’.
(6) Define the term ‘Entrepreneur’.
(7) Explain the term ‘Entrepreneurial Behaviour’.
(8) What is ‘Dynamics of Motivation” ?
(9) Define the term ‘Entrepreneurship’.
(10) Explain Concept of ‘Entrepreneurial as a Catalyst’.
(11) What is ‘MCED’ ?
(12) State any two names of Entrepreneurship in Economic Theory.
(13) What is ‘D.I.C." ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Write a note on Natural Environment.
(2) State Causes of Poverty.
(3) Explain comparison Dbetween Entrepreneurial and
Non-entrepreneurial Personality.
(4) Explain importance of Entrepreneurship.
Q.3) Answer in 150 words each : (Any Two) [20]
(1) Distinguish Inter-relationship between Entrepreneur and
Environment.
(2) What is Parallel Economy ? Explain Causes of Parallel Economy.
(3) Write a detailed note on YASHADA.
(4) Describe in detail Habits of Entrepreneurs.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Describe in detail the Qualities of Successful Entrepreneur.
(2) Explain Causes and Remedies of Unemployment.
(3) Describe Entrepreneurial Career of Narayana R. Murthy.
(4) Write a detailed note on Entrepreneurship Development Institute

of India.
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[3869]-115
F. Y. B. Com. Examination - 2010

INSURANCE AND TRANSPORT
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Marine Insurance ?
(2) Define Insurance.
(3) What is Cattle Insurance ?
(4) What is Double Insurance ?
(5) What is Group Insurance ?
(6) What is meant by Insurance Contract ?
(7) What is Tourism ?
(8) What is Transport ?
(9) What is Domestic Tourism ?
(10) What is Individual Tourism ?
(11) What is Air Transport ?
(12) State two advantages of Road Transport.
(13) What is Tourist Guide ?
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Q.2) Answer the following in 50 words each : (Any Two)

1)
(2)
3)
(4)

Enumerate Customer Services with reference to Insurance.

Explain types of Marine Insurance.
Explain Scope of Transport.

State different types of Tourism.

Q.3) Answer the following in 150 words each : (Any Two)

1)
(2)
3)
(4)

Explain features of Fire Insurance.

Explain advantages and disadvantages of Water Transport.

Explain factors of Tourism Product.

Explain Need of General Insurance Corporation.

Q.4) Answer the following in 300 words each : (Any Two)

1)
(2)
3)
(4)

Explain Principles of Life Insurance.
Explain Organisation of General Insurance Corporation.
Explain Need and Importance of Transport.

Explain Development of Tourism in India.
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[3869]-116
F. Y. B. Com. Examination - 2010

MARKETING AND SALESMANSHIP
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Market and Marketing ?
(2) State Elements of Marketing Mix.
(3) What is Product Planning ?
(4) What do you mean by ‘Packing’ ?
(5) State any three objectives of Marketing ?
(6) Define Salesmanship.
(7) What is “‘Market Segmentation’ ?
(8) Define Marketing Information System.
(9) What do you mean by Direct Selling ?
(10) What is Advertising Budget ?
(11) What is Super Market ?
(12) Define Rural Marketing.

(13) Define Marketing Communication.
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Q.2) Answer the following in 50 words each : (Any Two) [10]
(1) Write a note on Political Environment.
(2) Describe features of Personal Selling.
(3) What is the importance of Rural Marketing in India ?
(4) State Significance of Marketing.

Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Describe Product Oriented Marketing Organisation.
(2) Explain various Sales Promotion Techniques.
(3) Write a detailed note on ‘Market Segmentation’.

(4) Describe recent trends in Modern Advertising.

Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Explain in detail the Process of Selling.
(2) State various approaches to the Study of Marketing.
(3) Explain various functions of Marketing.

(4) Write an explanatory note on ‘Price Mix’ and ‘Promotion Mix’.
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q.2) Tl WA 4o &Fid ST f@ar @ (FIUE qi) [10]
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[3869]-117
F. Y. B. Com. Examination - 2010

FOUNDATION COURSE IN COMMERCE
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is Amalgamation ?
(2) What is Debit Card ?
(3) What is Liberalisation ?
(4) What do you mean by Consumerism ?
(5) Define Affidavit.
(6) What do you mean by Depository ?
(7) What do you mean by Kaizen ?
(8) Give meaning of the term ‘Zero Based Budgeting’.
(9) What do you mean by Mutual Funds ?
(10) Write meaning of the term ‘Primary Market’.
(11) What do you mean by Niche Strategy ?
(12) What do you mean by Hedging ?
(13) Define the term ‘Grapevine’.

[3869]-117 1 P.T.O.



Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain role of the Share Certificate.
(2) What is the role of NGO in India ?
(3) What is the difference between Life and Non-life Insurance ?
(4) Distinguish between Trade Association and Chamber of
Commerce.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain in brief, Important Labour Laws in the Country.
(2) Explain reasons of Slow Development of Stock Exchange in
India.
(3) Describe Features of Regulated Markets in India.
(4) Discuss Important Characteristics of Co-operative Sector.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Discuss aims and functions of Maharashtra Chamber of Commerce
and Industry and Agriculture, Mumbai.
(2) Describe in detail the role of SEBI.
(3) Write a detailed note on Malhotra Committee Report.
(4) What are the Challenges of Globalisation before the Indian

Public Sector.
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[3869]-117
A FUTAR
9% : 3 d™] [Fur o = 80
qAAT
(1) @& F97 TS 3Ma9qF 38,
2) ISTAIBSIT 3iF FoATd qUf T FIfaar.
7.1) &AHI 0 FA IW AT : (FHIUTARET <T@ [20]

(1) @& ™aT (Amalgamation) =oSt &I 9

(2) zfae FE "\ wI 9
(3) RIS =t 1T ¢
(4) ITETEE (Consumerism) FEOTST HTE9
(5) ufaemasr (Affidavit) Feca==it AT .

(6) fagiumem= (Depository) U H 9
(7) wEE= (Kaizen) =omt & 9

(8) ‘yLETAIRA FUHHET TS HE ¢

(9) THIA BE WIS BE T

(10) vTUTHE TERUS B/ HE ?

(11) uwHEg srau= (Niche Strategy) =orst &M ¢
(12) 2ereror (Hedging) =Sl &/ ©
(13) Juarsa (Grapevine) Webcaddl IRAT .
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¥.2) Tl 9l J&d! o &3 I fiar : (HUTaEl giE) [10]
(1) 9N GATOAE ©F FE d T B
(2) [OR ST FRE ARAKE ST B T FE.
(3) Siad fawT SMfoT AGEAT [ORT Tied W B d Wi

(4) SUR F§F T FEX A% HAY AW BIH T FA

7.3) Tl 9ATEr 940 sFid 3Iad Tol@r @ (Fiurddt qi) [20]

(1) %Qlldﬂl(ﬂ HIHIMY BT YISHd T S,

(2) VAT HNESRAT 6 BT R0 I 6,

(3) ¥AMia ERa TomEr a9

(4) VEPR HFTeN HEAUUl dRTedTEr @9l B,

7.4) Tl WATET Yt 3oo STSFId 3% AT : (HIUE FiA) [30]

(1) ¥ERTg <) 3% HAA T T A ffdear, Heg i
Y e C
IS VT S Igray TA] B

(2) WS qHHT AfAT O B
(3) HeaAT HWHEAT JTEAEER AaT o foar.
(4) WA FEAE GETIE STEIAbIHOTET BT M@ 3Tad o

AT
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Time :

[3869]-118

F. Y. B. Com. Examination - 2010
PERSIAN GENERAL
(New 2008 Pattern)

3 Hours]
Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate

[Total No. of Printed Pages : 4

[Max. Marks : 80

full marks.

Q.1) Define and illustrate any ten of the following :

[3869]-118

Fa
Ay
o

0.4l

o

X1 u’:’;
S ¥
I E
(et
s

bl
o
Lot U

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

[20]

P.T.O.



Q.2) Define any two of the following :

<, (1)

A

JF (3

vad (4)

Q.3) (A) Reproduce in your own words any one of the following :
Tt )

Fi ok ()

iy e =8 (3)

(B) Write any one of the following :
(1) Style of Ghalib
(2) Literary works of Hafiz Shirazi
(3) Life and sketch of Saadi Shirazi

Q.4) (A) Explain any five couplets of the following in English, Urdu,

Marathi or Persian :
|7

et S &

[3869]-118 2

(1)

(2)

(3)

[10]

[10]

[10]

[12]

Contd.



=
o>

é,{ s ks Jiz od (4)
I A

S, &5 8 2 S s $1S (5
sy 7 0T Qb u’/ SIS

ST g B ¥ Sk iz g (6)
d}ugu'iuf’n(’(d Ry

ey Sl Cb Bl oI2) J'} (7)
lf/ b/’}} ”’/ Y0 ey J';

(B) Translate any two of the following passages into English,
Urdu or Marathi : [08]

JT 5wt oy Ao & b £ (D

o S aiE O gty P b D et

&z - L GT 8 F ek 2y s !

U A U oo o H B e b
3y = L:)Lf.f; S e Yy £8|

M;M,./»{MT/J}/C;/MJJé (2)
I3 L F es ol 5 2 565
ool & oS £ Jey JAe 2
/;J/ﬁ:b{/&rlﬂuu‘%zﬁol‘%/ﬂ

» J}’G Y B (-] 8; JT (1’?
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(A) Summarise any two of the following :

5 3050 s
i

(B) Write the term in Arabic any two of the following :
LMl g
PRV K
Guiall Blall 8 ,5e

(C) Write a letter in Arabic to the Company Manager.

&l i N ol g AL o

OR

(Y Write a letter in Arahie tn the Rucinece Manaoer

[3869]-118/4
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[3869]-119
F. Y. B. Com. Examination - 2010
ARABIC GENERAL - |

(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Q.1) Translate into English or Urdu or Marathi any two of the following :  [20]
Jilnny Sae delany asis G Lol Laz gl (an)

Gy V1 Ljsd Gudd LSl Lisdlly 335 5 236 4K

A"

$ o .5 e

= =4 2
Ué LS‘}.;A dadno CA.UJ ‘a.” - t‘/)l._&.l‘ U_é G_IQJ_C'&J‘
g Jbl 3 ALl midl 42138 o aLE3 golad
Gals dug 385 - eyla g b Lig,< )54

- - = > W
Gyas J3id . a0 IS G6 Gads @il aal s

=3 e
A)L.i..” /Ja.a:o:g / 3 &y J‘ JAJ.S - bJ.AJ L2s ‘}Ja..t._z..!
- - 1A A T- - S S e
‘aﬁ.gbﬂ ‘al..qs - b‘dl..’sj \"'.‘:9‘.)'7’| 48 e ‘U'Ij J.;a‘gj ;

/g/

. odis deas Al L Lise e
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A< alsl; da (L)

135 - as Galy aadlls wicy Lagla (8155 (e
> La }..\...\.SJ‘ 423 élﬁj LSJ'? J G.LE é:\_é c.‘aj CLA/
Ty oy - 57 T ds-7 o 2 ,,) -] eyt
1l JSbs s alsd 545 - odd 0585 jia il A

I w8 o8 5D T 5 e - N b T ST -5
Y! ‘_J.SLi YU‘ J 923 4.4‘)[ 4.9_2.4_: Y o yrc piY LS‘J

- o

lgas Sl 8,mslllizhi Gala 32y . gud o
shy - iel Bhaffy oM &1 o 455 Gads)

- =
. d..:..fa :.\..LS &

=z

Y. sl g5a 15T 0 $a058
23025 450 sl s 38 (©)
as ¥ I i (a2
Ligh eli)3 Lisdll ely (s shas
U35 dal; 5K Jass ol
92 T oL T K o
AL PR I FOR
Al 35 cluall 3 Liass Rl
5355 63id) ad ale Lad s
Lghad 5 o slall 35aadt L2z
Ll LA e (plal
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Q.2) (A) Translate into Arabic any five of the following : [10]
(1) The student is going to the school.

(2) The girl is sitting on the chair.
(3) There is a student in a class.
(4) His office 1s far from his home.
(5) In the fridge there is an apple.

(6) There 1s a newspaper on the table.

(B) Translate into English any five of the following : [10]

s .

gi<s 3 dlsaas gua (V)
- 43a3 o daad 45 (V)

S _\z oTaT -~
-85l saslill Lo (Y)

- 33:& L::JA.ZJ‘ Q;\.ﬁ (i)

s X (D)

Q.3) Explain with examples any two of the following : [10]

ﬁAJ‘J :‘AS.M." (\)

9|A9.“ ‘_’9‘3‘)3 (\')
ol Gladly Gladi (r)
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Q.4) (A) Summarise any two of the following :

(B) Write the term in Arabic any two of the following :
EEND PUREYEAL

Guiall Llall 8 fe

(C) Write a letter in Arabic to the Company Manager.

sl aal I Al o L

OR
(C) Write a letter in Arabic to the Business Manager.

(V)
(¥)
(v)
(¢)

(1)
(v)
(v)

i

Lo olatl) Eyall o I E 31 (3 AUl i s

[3869]-119/4
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[3869]-120
F. Y. B. Com. Examination - 2010

ADDITIONAL ENGLISH
(New 2008 Pattern)
Text Prescribed : The Joy of Reading Literature
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) (A) Read paragraph carefully and find single words for each of
the phrases given below : (Any Four) [04]

| felt both annoyed with and sympathetic towards Gangu. “Why
couldn’t this stupid man find another woman to marry ?” | said
to myself. | was certain that she would not stick to him for
more than a few days. If he had been better off financially, she
might have stuck on for six months or so but now | was sure
the marriage would not last more than a few days.

(@) to be angry with

(b) to be sure of

(c) to be considerate towards
(d) to hold to

(e) to continue
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(B) Fill in the blanks with appropriate phrasal verbs given in the
brackets. Use appropriate tense form : (Any Four) [04]

[look up, take down, live up, turn on, brush away, turn up]
(@) Meenakshi gently the leaf from her hair.

(b) You should notes in the class for better
understanding.

(c) Sheela has to her parents’ expectations by
winning a gold medal in sports.

(d) the meaning of the word in the dictionary.

(e) the T.V. | want to watch the President’s

address to the nation.

(C) Add a suffix to the following words to make another word :

(Any Four) [04]
(@ leak
(b) manage

(c) perform

(d) employ
(e) serve

(D) Give antonyms of the following words : (Any Four) [04]
(@) interior —

(b) absence -
(c) disapproval -
(d) sane -

(e) destruction —
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Q.2) Answer any one of the following in detail : [16]

(@ Comment on the title of the story “The Gift of the Magi”.
(b) Attempt a character sketch of Gangu.
Q.3) Answer any one of the following in detail : [16]
(@) Describe central idea of the poem, “Where the Mind is Without
Fear”.
(b) Explain main ideas expressed by Robert Frost in “Stopping by
Woods on a Snowy Evening™.
Q.4) Answer any two of the following in short : [16]
(@) Narrate sequence of events that led Paul to finally manage a
room in Hotel Stefani.
(b) What does Nehru say about the people on the other side of the
border ?
(c) How does advertising have an adverse effect on the mind and
life of the young ?
(d) Describe way in which Paul and Patricia discovered who Mr.
Markie was.
Q.5) Answer any two of the following in short : [16]
(@) Comment on the theme of ‘Sonnet 29°.
(b) Write a note on Wordsworth’s attitude towards nature in “The
World is too much with Us”.
(c) Who can, according to Emily Dickinson, best define victory ?
Why ?
(d) Why does the poet Langston Hughes refer to himself as the

“darker brother” ?
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[3869]-121

TR qY qUiorey gt - 2010
HTIEINE T U At

(AT j00¢ TaA)
HARYES : (3) STHAAT
(k) FEERFE #AST

9% : 3 dW] [gpur Tqur ¢ 70
AT

(1) T g7 T JTTTF I7TE.

(2) ISEIBSIT 3F geATd quf OT FIfaar.
7.1) TS ForaTdt THT faugmay e woo rswid fo@r [10]

(1) faemeaten g

(2) SIAMa® dOHEEAE 3T WA
(3) Trmemia AioRA 9 (Afed)

q.2) TS FIOETE FET YAd I Fdadht R0 ¥ faar [10]
(1) STHEART AEAT=T WO BT ©

(2) HUIE IR IAd STMABUTET Ad JE.

(3) A= IAGA FA B A% AWT 2

(4) FHISAARUAT Hides Tooll TAEEA HF FE@E 2

(5) WEAT Fordl HoMl TOR JeEAErAT AA@ IHA ©

(6) TIHA YcTAT IH HIUH URH FHAM 7
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(7) #feA= RAR AMA IS FHOd IUSATT HIAT ?
(8) HAfAI Ul Bigde {hdl FTUA WA ?
(9) SEETE Fe T MGV Aig 9
(10) =f. FATH MMUET FSIATITAT FT FAFATT 9
(11) ¥ 2l B JeuraR [aga SHare Jeidiqr g HAT 61X
3q °
(12) a9 9aR ERE ot A= 3 fohdr fhAdiar aa s 9
(13) I 3r@Ec T HIOTETE qF GEAhidt A H.
7.3) TIAUS! FIOETET THT YA I $o IeFd ToTal - [05]
(1) I EAT Necaray B 19 "9Sd 9
(2) A Ir@ESHT TRIEETET SO AT Iaqr 9
7.4) TTCAU®! FIOETET THT 99T IAT 4o eFid foral [10]
(1) 3muet Faa nuoaEEt fga 99 $™ A ?
(2) TIEAAMATAT ATRHETET SISUTISOT BB Sl o ToTar.
q.5) TCIAds! FHIOETE A gt R forar - [20]
(1) ¥H9E wemMdda ‘STHEUS  SMUSEETET JET HUEErdr 3.
JAIATIA  STEAAER ST 9 3 a9 .
(2) ‘TFANE! FaQEA AT ARG e, 7T AAHS! TS
M & HAl M@, AT ATHAGT MAAT I Hedd I
gisaA e Boteam TR [t st rmamet feuroft a6,
(3) WA Sf. ATEETRT 3TMUSHT Fal, [ T AT HETTaTeaT=d]
ATHEAATATT [alaer SUhH TS S0ATATS! eI
AgoAdl da% . O dewr glagw faEt
(4) R STudt BT ASHAE TSHAAT YT WU AU 31T,

[3869]-121

TS SHGAT FUIHIGT F(Ards, T9F6 qaR Ho S

([aNEaN

MiaaT #Seas ANGUa I e, AWe! Hiaer gear et
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9.6) WIU®! HIVTITET THT 9 39X foar [10]

(1)

(2)

9.7) (370

[3869]-121

(aV [V [V

BT WA Tl T T80% 7F TG ARTRSHT BTl Hlessl
AT AT R ST I SO Se Heed T@n
H.

JEicuad! THT fquamery q@uame! Sieddardr AYaET (oel
) AUETAT 5T
(F)  gron NE=IC TUIR H{J\Ldﬁl TR

WAl JAT Y/ ARAASH $A qAYE AiNF Ao [05]

INCFITIR G AT THT ATHTAEET F2UTST T Hehed dTed.
T TITT do FHIGHTA HAA! AN Ao o1, AR, a9,

Tt a1 Foar I faueT Shat. SUINa OTEEl FH9al deEl

d¥y IoHT gﬁ' TPh dIb ASIA dig oflld. YTI¥ HId Ch{UquICE\I TIH

SioadTd THaar il 3R T I=guam=n 9aeT ST, 99T T

HIRAT STTRT AT ATEl. ATIAT IS ¢CoTSE BT Dicae avadT
T ANTEAL 383¢FTSH A TASll WIRSHAT @+ aT9qd 3.

el PEN JASTOH Id T, TG HTIHIAT AT AT HI0ATT

GO AT 3aal. AlcThe Rl [SEal FH A BR AEE 3
AR, TS TaeTrar =TT IUaa heiel e adt AfRAd ISTaaR
EOTTT TF ISHTT I 3MM@AT 3TE. BIH Hicde @< e TEH

AT T BUMd AR, [222 <T=g]
EEI

3 P.T.O.



(F) A SIS IAUTE AUSHK WINiaT & [05]

The most important and urgent task before our leadership is to
get all the forces for constructive change together and deploy
them in a mission mode. India is a country of one billion people
with numererous religions and communities. It offer a wide
spectrum of ideologies, besides its geographic diversity. This is
our greatest strength. However, fragmented thinking,
compartmentelized planning and isolated efforts are not yielding
results. The people have to come together to create harmonious
India.
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[3869]-122
F. Y. B. Com. Examination - 2010

SANSKRIT
( STHTHIAT )

(New 2008 Pattern)

9% : 3 ] [TERUT TUT : 60

Q.1) Translate into English or Marathi any two from section ‘A’ and any

two from section ‘B’ from the following passages : [20]
R IR R o G A B o B Y e G B MR CR Dl A M DL
e FUSia AT wESd WiwiaT & [20]

SECTION - A (T - 39)

(1) WHTHUEIT AATIeAdTS A RE AT raTaRor:, TORTHT: JaOTHIRehTIes -
o . o [

P, HAAT IR FHIeGe:  TEHTARGITE (TS AT TeAT:

JITHAT | THTAHI TaTd s, WHHTA ATEATADBATTaa -

FARTL, T MEAAEAASTATNSH:  TH LTRSS B |

[a S aN

ARSI HAGAHAAGYH | T8 I 9¢58 T HHANTS T |

(2) T TEA AT [IHATNSE: WITSIRGHTRT 3THUTA, “Hl WIS |
3 WAUTEH AISI[E Hical AETHT I 90T | qarsd Iram
T, AT O/ (e, daed Eoq” | dgawi
AOSTRNHE  WIUER  Aicdl  [S&me W@ ax= &g |

o o o o [ (o)
FIAITIHIST WA TN T TEral TRYOHARY: TSTHH AT

WOTr |
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Q.2)

(3)  3TATHr FEMTT: T WIoE 3T T59 IFAT TTONS AT THTY -
e FIAWAT TESIEAIC AU o1 a1 94 [d5aid, IAE T
T | 31T T FHSg(haas NUAR T TEsIE-9e Jeral JeAgsed
TR | AR H AGRU: I WedT Widase: | T

A=Al § TSI el Sratsar T |
SECTION - B (fawmr - @)
(1) wur g fafod o= dfed goudw |

qard ey TEERdREHad |

T W AT T STEitAeH |

T yE faae @ HemstespaE
(2) Flae] FLEIOT  HETEIOT G1 |

TETITEI RS o 9 |

qO~ Jqreg=d F g JudYdd |
WAl 9 Te=vel 09y ag"q |
(3) WHEE Tk SEEHAT TE

frert ARTYROTaSe: TRERNY |

o

ETaaT FIrSTH I TH:

fpoie: 90 wWatd #adi A9l ||

Explain with reference to the context any one from section ‘A’ and

any one from section ‘B’ : [10]
37 [qUTNTdiT FIoTATEl T T ‘o fqumTdia oTETEt U
TSUTHE TSR] B [10]

SECTION - A (fawmr - 37)
(1) WEUSR =T GURoNTASaq |
(2) gAlsT IJEARAT fEa: Saad: e |
SECTION - B (fwmr - @)
(1) ¥ Teft, d@ At Afg Afe oty aresr |
(Z)WWW:,Wﬁ%ﬂTﬁﬁzl
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Q.3) Write a long answer of any one of the following from section

‘A’ and any one from section ‘B’ : [20]
U TIATTAIA HIOTATEr THT 99ATd T ‘& [I9mTaid Sioredmat Teht
TS Gy 3T T [20]

SECTION - A (fymr - 37)
(1)  Which were the purposes of Lokmanya Tilak to start ‘Ganesh
Festival’ ?

TR & FHATT ABATY [CHBrAT I HIUMT e &l ©
(2) Write an essay on ‘TToT{-rerITerpTL:’
rOTETR AreR ey o
SECTION - B (fawmr - @)

(1) Write summary the of lesson ‘TSsTad:  feawsrer:’

‘RrotTpa:  Teduarer” IO dIem=T AT Torar.

(2) Explain any five types in ‘@rarsmEa=rs:” with examples.

‘PTHMMETIATS:” IT UTSTAIA HBIVAE! UTT THN TGTE0T W FH.
Q.4) Write short notes on any one from section ‘A’ and any one from

section ‘B’ : [10]
3 TIUTTIET FITATET THTaX T ‘T TNl HIoTTel Thrar fadasw
o fetEr [10]

SECTION - A (frmr - 39)
(1) HAABAAA

(2) Character Sketch of ‘T=r=f’.

Tl SR
SECTION - B (Rrsmr - @)

(1) IFaeR: |
(2) Character Sketch of ‘stardy’.
QT TR,
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[3869]-123
qUH Y qIued gl T - 2010

fa=t
(AT qTSIHH)
g : 39U [‘3\'011?5 : 70
qegE® ¢ (1) FREEERT o TErEaE
(2) TIETERT : FTHTTE

(1) ¥t go7 3ifaard & |
(2) g T ford 3i woA # gonie F

7.1) (3N T=lafad # ¥ 6=t S 9eAf & I g4 | fare [06]
(1) &g 3 e & @ o9 vaR foaqg ¢
(2) AN A U & AR HT AU T WER AT 9
(3) WIARA HT G TAGA HI THAT IHT 97 AOT 74T 9
(4) FE # Ut fSodt & IO B |
(3M THaRad # § 6=t st 9ot 3 IaX d4T # A [06]
(1) T STUUHT TATS § WA I B ATGAT o6 et 7 1fvrerem
BB T
(2) ‘UTHgadr Hiaar § g AR AT BT TATS A AT
g E
(3) “Ud BT W Fiadl & T B T PO |

(4) ‘It B AT Hiaar # GG SETGE GEEaG ® T
HITT |
[3869]-123 1 P.T.O.




7.2) (31 fo=fafaa & @ = o raaen o gEsd s Sitg ;- [06]

(1) — “& 7 ugt, 7 @@, s § 70 a1 Fo0 | JH BE
ST A 3FUG &, TS Aal-qHgial Tt | 98 T&k gem |7

(2) 3@ TN & AT O 98 BAH BN S FGT T FH
AT A&, dfed dHR U B, 39 IBR B FIA! Bl AE
AP AT TAr B, SAW Al &, SABN FAAT B |

(3) “wgAISl W HH UE W g F @ a% W & 9w
g, BIc 7 98 O WA ¥ 7 T\l IqET TIT FU AThA
STEl dF WHEET B 99T 2, Pdd B T W & ford T
ITATRAT &, a7 & Hbad HU |7

(3m) TrAfaiad # ¥ TF= S aaon & IEed o sitg - [06]

(1) #ET BT W= AT JS&
AT HI AT TART AT T4
TR W et g TE
Sell g 8T
HqHT FH A F

(2) WAL X & B, AT I W 2 |
WA 3T Fedm o TH =T &
it Bt AWl #T Perar W TF,
ST W g T IR TH |

(3) [T T T T ?
agoaT ar fraq & 2

ST U - Ug NEgsr - ¥ A ...
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9.3) fewutmt fasd

(31) dSHEA HT AT | [04]
AT
(371) ‘HIMRH BT S’ waEE BT | [04]
(3 “ToTETEET G I BIAAT BT WA | [04]
AT
(3M) ‘@RI AAAM AEY Haar A T B FE€LAAT | [04]

(3) frafaiaa & o TF=t B8 WAl & IR UH-Ush a9 | foanad : [06]
(1) A=t 9 9 ¢ FAAT T9ey ™ F 9
(2) HEAT W A Mg B IR H R Bar 29
(3) ‘fowit # uw A FEEr A hOwr HI g T 0
(4) <% HI IEq H O 1 W fEET o9
(5) TE H ANA HT IFAl @IET FBal g4 & 9
(6) BT F JATAR @Y AR A [Fas foar dwa =gt
g ?
(7) w9 gadr TRE®! e I T H Thdl & 9
(8) ‘U T T’ HiaAT H U Bl BIA-GI AT BT IaqT &1 & 9
(9) rtwemT e WX W BT TFE TU F WNET AET 9mEdr 9
(10) BT F JAR FH M TE A g F 9

9.4) 31 TEaraa & 9 f6dt ™ 13 F7 gy R Sine [06]

(1) T / T R, SAHATR, EASTR d &St IR
g & g ataa, Td Reror SR, IEn & A ST
forgrar / forear & |

(2) weg / w"eEr BE, sou, orifawew, AMME ¥ A e

B O B THET H AN 34 g TAER 9T SHE
AT & FEEH B AW OF foar /@ g
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(3M) FTaRad [aama raT aEiees B AHAT O &t 0 [06]
(1) = IR N @ $ @ qgAes ad 1 faad |
(2) WEMgaE™ ® W9~ ‘qYs HE A H aaesT |
(3) THaad # & FFl 82 It &1 I8 & [y [06]
(1) 3=M® AT a1 do= ot |
(2) BN WHR 9T fEameia g |
(3) foo=r =@ &t g s 2 |
(4) W B @H |
(5) IHHT AT GHTHT H faei & mar |
(6) ®F ¥ frd & IuHr 9o ea T |
(7) 39 FERH | 3MEF AT IUNAT & |
(8) 3IWA TE FH B |

9.5) (31 frefarad ® & feet o usst & fest aerys o fated ¢ [07)
(1) Advice
(2) Cash
(3) Debit
(4) Exemption
(5) Freight
(6) Import
(7) Job
(8) Offer
(9) Recovery
(10) Subsidy
(am fr=fafaa & o et o foww @1 oo @i 0 [07]
(1) &t =E a8t g |
(2) I TG F DT HAT |
(3) W@= I @ 2 |
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GUJARATI

(New 2009 Pattern)

Time : 3 Hours]

[Max. Marks :

[Total No. of Printed Pages : 2

80

w.1) Axidl SIS ua 2is [@Qua u Mol quil -

u.R)
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(a8l 2 1M1y
d¥ Al ¢5¥H1d
MRl ALl AM221L
dMnl Ml vaLdl
ugl s Usdl A[AdR G vl ¢
(a5 warsad agldl.

[gRs-ll aldl>linl Al Hog Axs sl

w.3) dlAAmidl s ua 2is UsAAdl 4lAd Gar quil :
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densll sladipiing uepeilsi
el sl Aledasi
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)
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() ‘cactad w sfdl sl daue
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wu) (2) yaluz Aoy a@vil @ (A5 ua - A ) [0¢]
(1) R wn w3 oY @ 3.
() ouasl gz, A vl GRRd.
(3) i o) 26l © A YA AU 2 Y 7
(%

) urdl dlosiS ey o sl odl ?

(61)  GlRaHl Wl IS 2A6AA, Mot AHAADL Usl Quil. [0¢]
I PET]
(0)  axdl sidomi deda uislas sdsudl vdaid duR s3. [0¢]
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(Arabic)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
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[3869]-125
SINDHI
(Devnagri)
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80
gara-1)  gfeai A e T ge gt S s sAfewa 20 awstiv
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# foro [20]

(1) fem st SS9 WA =@, @ARFeT Hiaar Sraemonsy o
afeE # oy B et @Er ¢

(2) 3Gl S FAT IIT Hleg [UrAd HoMAT BN O?

(3) oEd WEYH Wl W MR o sen HemE ' ¢

(4) TRT FAAONIT & Higer AeOSTelt 1 ?

(5) UMY dfc WA H FH FOT g Hiegl W & ¢

(6) STHIT T HEST MFH g3 ?

(7) TEH o f§d S wiESr @A g °

(8) IR WIGIME, ATGET & Higg W&M Tl P3 HAT ?

(9) faem @i wfeer Iwar v & ¢

(10) oTer 9l © I9iR S Fgedd A H PHlegl 0q aewd
e

(11) Sredrer of g /=T a, WidieT Sty Sisl Eiwmar ¢

(12) cfaer g9t el e fcter At Reem & =g gea
o owl e

(13) fuar o I@ra &, WA St "9 W Hleer Atgonw fer 9
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gara-2)  gfeai @t fefw v [ gaete s osEw stfeswar 50
ar ® feen [10]

(1) s # e S Hleel SMEEd e ©
(2) omE WifEw 9T St SN wlES A THA ®E MR 9

(3) MER iR g &% T I @l AT Hiegl b &

TR MR ? B9
(4) TOW W AFr drst e wEEr ©

gara-3)  gfeai | i v fufw gaet st Saw stfesa 150 awstiv
# ferer . [20]

(1) 3wt St fFEr ot shar.

(2) ¥ S =" WHAT S [ BT

(3) TET® WA AT, FAA S TEER BT UA FAT @ 7
(4) I T T W@ S JAT Bt A ©

garer-4)  Bfeatt @t ® W T AwE stfewa 300 dwtH # fermr : [30]
(1) HATBR T STHBAT
(2) TS # G S FSH

(3) 3T AMIHF H T FHATH

(4) f@= ST SHER
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F. Y. B.Com. Examination - 2010

FRENCH
(New 2008 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Use of dictionary is not allowed.

Q.1) Ecrivez un dialogue : [10]

(A) Maryse va passer deux ans a Strasbourg. Elle cherche un petit
appartement meublé dans un quartier calme. Elle eut un appartement
avec une salle de bains et un parking, dans un immeuble moderne.
Elle va chez I’agent immobilier. Elle demande le prix. Ecrivex
le dialogue.

Oou

(B) Jacques s’arréte a la station-service pour faire le plein d’essence
sans plomb. Il veut faire vérifier I’huile, I’eau et la pression des
pneus. Son pare-brise est sale. Il veut un regu. Ecrivez le dialogue
avec le pompiste.

Q.2) Ecrivez une lettre : [10]

(A) Gérard écrit une lettre a la société BATTA a Milan en Italie. Sa
directrice Coralie Dupont va en voyage d’affaires a cette société.
Gérard écrit les détails du voyage; la date d’arrivée, le nom de
son hotel, la date du retour, les numéros des vols d’arrivée
et du départ.

Oou
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(B) Vous étes importateur de vétements. Vous écrivez une lettre a
la marque francaise ‘CHAPEL’ qui fabrique des chapeaux. Vous
demandez les prix et les produits.

Q.3) (A) Traduisez en anglais : [10]

En France, les nombreuses agences de location proposent des
voitures de marques francaises et etrangéres. Les agences locales
offrent des tarifs plus avantageux que les agences internationales,
mais vous devrez généralement rendre la voiture la ou vous I’avez
louée, et non dans une autre ville.

Il faut avoir vingt et un ans minimum (vingt-cing dans certaines
agences) pour pouvoir louer une voiture.

\Vous devrez presenter un permis de conduire valable et une piéce
d’identite.

On vous demandera une caution, formalité dont vous pourrez
régler le montant par carte de crédit.

(B) Traduisez en anglais : [10]

Alain Dumar est en voyage d’affaires en Suisse. Il a un rendez-
vous et il est a la frontiere da la France et la Suisse. Il est a

la douane.

Le douanier : Bonjour! \Votre passeport, s’il vous plait.

Alain : \oila, monsieur.

Le douanier : \ous venez en vacances ?

Alain . Non, c’est un voyage d’affaires. Je vais a
Zurich.

Le douanier : \Mous n’avez rien a déclarer ?

Alain - Non, rien du tout.

Le douranier : Je dois fouiller vos bagages.

Alain . Oh, non! C’est pas vrai. Vous en avez pour
longtemps ?

Le douanier : Quinze minutes, maximum.
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Q.4) Compréhension :
Lisez le texte suivant et répondez en francais aux questions suivantes.
Claire veut ouvrir un compte dans une banque a Angers.
L’employé . \Vous désirez ?

Claire :Je vais travailler a Angers pendant six mois a partir
de janvier et je voudrais ouvrir un compte.

L’employé : Oui, vous avez une piece d’identité, s’il vous plait ?

Claire : Oui. Tenez, ma carte d’identité.

L’employé . \ous étes de Strasbourg ?

Claire : Oui. Jai Déja un compte dans votre banque a
Strasbourg.

L’employé . Vous avez une adresse a Angers ?

Claire : Oui, c’est le 6, rue Saint-Etienne.

L’employé : \Votre profession ?

Clarie : Chef du personnel chez ITEX.

(A) Répondez aux questions suivantes : [02]

(1) Pourquoi Claire va-t-elle dans la banque ?
(2) Quelle est I’adresse de Claire ?
(B) Dites vrai ou faux : [04]
(1) Claire est ingénieur.
(2) Claire a un compte dans cette banque a Angers.
(3) Claire va travailler a Angers apres février.

(4) Elle va étre a Angers pendant 6 mois.
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(©)

(D)

Mettez au négatif :
\Vous avez une adresse.
Donnez I’infinitif :

tenez, desirez

Q.5) Grammaire et vocabulaire :

(A)

(B)

(©)

(D)

(E)

[3869]-126

Mettez au negatif :

(1) Elle a besoin d’une signature.

(2) Je voudrais réserver une table.

(3) VWous voulez vérifier I’huile.

Complétez avec les prépositions qui conviennent :
(1) Nous prenons le train Paris.

(2) Il a une chambre I’hotel Concorde.

Mettez les verbes entre parenthéses aux temps/modes indiqués :

(1) Isabelle (chercher — présent) un grand hétel.
(2) Le directeur (vouloir — futur) voir I’usine.
(3) Lucille (venir — passe compose) de Bruxelles.
Trouvez I’object direct :

(1) La famille cherche I’hétel.

(2) Elsa recoit les demandes de réservations.
(3) Je veux cet emploi.

(4) Wous prenez le train a la gare d’Austerlitz.
(5) Jeanne présente son permis de conduire.
Mettez au pluriel :

(1) Jai mon permis de conduire.

(2) Tu peux louer une voiture.

[02]

[02]

[06]

[02]

[03]

[05]

[04]

Contd.



(F)

[3869]-126

Choisissez le bon mot : [05]

1)

)

3)

(4)

®)

Un habitant de I’Espagne est
(@ allemand

(b) danois

(c) espagnol

La SNCF, c’est

(@ le réseau ferré francais

(b) une gare a Paris

(c) un hotel

Le directeur commercial coordonne les activités
(@ de marketting

(b) administratifs

(c) comptables

Le 1° janvier est

(@ Il'anniversaire de I’Armistice
(b) le Nouvel An

(c) P’Assomption

On peut retirer de I’argent 24h/24h, 7 jours sur 7,

(@ aux distributeurs automatiques
(b) a la banque

(c) au trésor public
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(G) Dites vrai ou faux :

1)
)
3)

(4)
®)

Le directeur technique anime les activités de vente.
En France, I’unité monétaire est I’euro.

En France, I’employeur peut proposer des chéques-déjeuner
aux employeés.

La féte du Travail, c’est le 2 mai.

Les chambres de commerce son financés par la taxe
professionnelle payée par les entreprises.
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F. Y. B. Com. Examination - 2010

GERMAN
(New 2008 Pattern)

Time : 3 Hours] [Max. Marks : 80
Q.1) Beantworten Sie ZEHN der folgenden Fragen ! [20]

(1) Was wollen Sie werden ? Warum ?

(2) Nenne drei Nachbarlander Deutschlands !

(3) Warum lernen Sie Deutsch ?

(4) Beschreiben Sie Ihre Wohnung !

(5) Haben Sie Arger Mit Nachbarn ? Warum oder warum nicht ?

(6) Was soll man gegen Schlafstorungen tun ?

(7) Nennen Sie Wahrzeichen von Pune !

(8) Was kann man mit dem Videophone Machen ?

(9) Sie mochten zur Arbeit ins Blro gehen. Was ziehen Sie an ?

(10) Was haben Sie letztes Jahr erlebt ?

(11) Wie finden Sie das Schulsystem in lhrem Land ?

(12) Was finden Sie im Beruf am Wichtigsten ?

(13) Was machen Sie am Wochenende ?

[3869]-127
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Q.2) Lesen Sie den folgenden Text und beantworten Sie die Fragen !

Frau Mdller ist aus Mannheim. Sie lebt seit drei Jahren im Altenheim,
welches in der Stadtmitte liegt. Es hat einen Schonen Park und eine
gemutliche Cafeteria. Die alten Menschen haben auch einen Shuttle-
bus, um in die Stadt fahren zu konnen. Mit ihren 69 Jahren sucht
Frau Miller noch immer Menschen, um die sie sich Kimmern oder
mit denen Sie sich unterhalten kann. Sie besucht oft altere Frauen,
die allein in ihrer Wohnung leben und Hilfe brauchen, wie z.B.
einkaufen, die Wohnung aufrdumen, vorlesen usw. lhre Adressen
bekommt sie vom Sozialamt. Zweimal wodchentlich singt sie abends
in einem Gesangverein, das heilt : Mehrere Menschen singen in einer
Gruppe \olkslieder, Kirchenlieder usw.

So vergeht kein Tag, an dem sie nicht irgend etwas unternimmt und
trotzdem fihlt sie sich off einsam und ist traurig. Ihr Sohn, der in
Hamburg eine Arztpraxis hat, besucht sie gewdhnlich nur einmal im
Jahr, an Weihnachten. Und ihr ehemaliger Mann - von dem sie
geschieden ist - lebt im Ausland. Von dem hort sie sowieso nie etwas.

(A) Fragen : [08]
(1) Wo liegt das Altenheim ? Ist Frau Muller zufrieden ?
(2) Was macht Frau Mdller in ihrer Freizeit ?
(3) Was bedeutet ein Gesangverein ?
(4) Beschreiben Sie die Familie von Frau Miuller !

(B) Sind die folgenden Aussagen richtig oder falsch ? [02]
(1) Frau Mualler wohnt mit ihrer Familie in Mannheim.
(2) Frau Mdller singt und spielt Klavier in einem Gesangverein.
(3) Ihr Sohn wohnt in Hamburg.

(4) Sie ist von ihrem Mann geschieden.
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Q.3) (A) Ubersetzen Sie den folgenden Text ins Englisch oder Marathi !  [10]

(B)

Also, ich drgere mich immer Uber die Strafenmusikanter. Warum
tut man nichts gegen diese laute Musik ?

Ich finde, man sollte das ganz verbieten. Die StraPe ist doch
kein Konzertsaal.

Genau. Wenn ich ein Geshaft hatte, wirde ich mich Uber die
Musiker beschweren. Oft spielen sie direkt vor den tin - und
Ausgangen und stéren den Geschéaftsverkehr. Die konnten doch
auch woanders spielen.

Strafennusik ? Darlber rege ich mich nicht auf. Die Musik in
der Kaufh&dusern ist doch genauso laut. Die miifite man dann
auch verbieten. Meinen Sie nicht ?

Ubersetzen Sie ins Deutsche ! [10]
(1) My apartment has four rooms and a kitchen.

(2) He has to wake up Sonal at 7 O’clock.

(3) Wash your pullover and water the flowers !

(4) | have fever, so | have to stay in bed.

(5) The students are worried about their exam.

Q.4) GRAMMATIK Und Wort Schatz :

(A) Ergénzen Sie das Perfekt ! [05]

[3869]-127

bleiben, zeigen, nehmen, erzédhlen, schreiben

1)
(2)
3)
(4)
()

Wem du den Brief ?
Die Frau uns von ihrer Familie
Er seinem Freund sein Zimmer
In den Ferien meine Mutter zuhause
Peter meine Bucher
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(B)

(©)

(D)

[3869]-127

Bilden Sie die Fragen ! (nur drei) [03]

(1) In den Ferien fahre ich nach Frankreich.

(2) Herr Meier hat heute Geburtstag.

(3) Der Vater mul Hans um 7 Uhr wecken.

(4) Die Kinder spielen in _dem Garten.

Erganzen Sie die Modalverben ! (nur sechs) [03]

(1) Sie einen Film ansehen.

(2) er viel arbeiten ?

(3) Ich ein Mittagessen fir vier Personen kochen.

(4) Der Student flr vierzehn Tage Blicher ausleihen.

(5) Wie oft er das Medikament nehmen ?

(6) Sie hier nicht rauchen.

(7) Welche Musik Du nicht ?

Erganzen Sie die Endungen ! (nur sechs) [06]

(1) Im letzt __ Monat ist Meena mit ihrem neu __ Auto
nach Mumbai gefahren.

(2) Wem gehort dieses groB _ Haus mit dem gemutlich
Garten ?

(3) Zwei jung ___ Studentinnen wollen ein ruhig _ Zimmer
mieten.

(4) Mit herzlich ___ GriRen mochte ich dieser lang __ Brief

()

(6)

(7)

beenden.

Der alt __ Mann sitzt an der klein __ Ecke und denkt
an seine Jugend.

Der Vater ist stolz auf seine klug _ Tochter und seinen
intelligent ___ Sohn.
Nach meiner letzt _ Prifung, fahre ich lieber mit meinem

best  Freund nach Goa.
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(E) Ergénzen Sie die Personalpronomen ! (nur drei) [03]

(1) Was schenkst deiner Schwester zum Geburtstag ?
muchte ich ein Buch schenken.
(2) Hans ist mide. Man muss ins Bett bringen.
(3) Die Schuhe sind sauber. Wer hat geputzt ?
(4) Heute ist die Party bei Sofia. Kommt ihr mit ? Ja,
hat eingeladen.
(F) Ergénzen Sie die richtigen Verbformen ! (nur vier) [02]
(horen, fahren, nehmen, sprechen, machen)
(1) Im Auto __ er die Cassette von seinem Sprachkurs.
(2) Einmal im Monat Giovanna und Herbert nach
Italien.
(3) Der Zweite Gast den Schweinebraten und den
Apfelsaft.
(4) Salih mit seinen Kollegen immer Deutsch.
(G) Ergénzen Sie die Possessivpronomen ! (nur vier) [02]
(1) Montag kann sie nicht arbeiten, Hals tut weh.
(2) Ravi und Freund kommen aus Indien.
(3) Du, Sonja, ist das Auto ? Nein.
(4) Wir lernen Hindi. Lehrer heil3t Herr Mishra.
(5) “Monika, was macht Mann ?”
(H) Ergénzen Sie die Prépositionen ! (nur vier) [02]
(1) Alka interessiert sich Theater.
(2) Die Lehrerin ist zufrieden Studenten.
(3) Ich gehe das Haus.
(4) Das Flugzeug fliegt die Stadt.
(5) Stell den Tisch der Schrank und das Bett.
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Q)

Q)

Ergdnzen Sie das richtige Wort ! (nur vier)

1)
(2)

3)
(4)
()

Heute ist Mittwoch, Morgen ist

Welche Bundeslander haben eine zu Polen,
Ungarn ?

Ich wohne in Pune. Meine hat vier Zimmer.
Der Arzt sagt, ich soll keinen trinken.

Mit der kann man Papierfotos machen.

Welches wort passt nicht : (nur vier)

1)
(2)
3)
(4)
()

New York — Brasilien — Frankreich — Indien — Japan
Tisch — Stuhl — Lampe — Waschbecken — Fahrrad.
Skihose — Pullover — Tee — Schal — Handschuhe.
Buchhandlung — Bé&ckerei — Zuhause — Reinigung — Post

Kindergarten — Schule — Disco — \olkshochschule -
Universitat.
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W st s & O
b 3L 3 (1)
tosl Uk ()
L‘j 'l ")

[12] & g o (D e AU

) 2 AT EF U i (D
(sl YbJ (r)

[08] S a2 kK U Sy S LU ()
The college examination was over and Ahmed was
going for a picnic. He was going alone on his new
scooter. He rode out of the city. He went towards the
ghat. He was going very fast. Then he sawred sign. It
means 'Steep Curve Ahead'. Ahmed did not slow

down and dashed against the hill side. He fell down
with a thud.
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[3869]-129
F. Y. B.Com. Examination - 2010

COMPUTER APPLICATIONS
(Theory)
(Vocational Course - 1)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions :
(1) Figures to the right indicate full marks.
(2) Draw a neat and labelled diagram wherever necessary.

Q.1) Define the following : (Any Five) [05]
(@ Hexadecimal
(b) ASCII
(c) Cache
(d) MS Power Point
(e) MICR
H GuUl
(99 MODEM
Q.2) Solve the following : (Any Four) [08]

(@ (120),, = (),
(b) (54),, = (),
(c) 110010 + 111001
(d) 1010/10
(e) 11010 * 110
(H  Solve using 1’'s Complement Method : 1011 - 101
[3869]-129 1 P.T.O.



Q.3) Write short notes : (Any Five) [15]

(@ Pointing Devices
(b) Control Panel
(c) Magnetic Disk
(d) E-mail
(e) Slide Sorter View of Power Point
(fH GUI
(g) Barcode Reader
Q.4) Answer the following : (Any Three) [12]
(@ Define Computer. Write various advantages in detail.
(b) Explain briefly the following :
(i) Word Processor
(i)  Spread Sheet
(c) Write a note on Generations of Computer.
(d) Explain Mail Merge Operation in Word Processing.
() Explain Format Menu of MS-POWER POINT in detail.
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[3869]-130

F. Y. B. Com. / B. A. Examination - 2010
ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT
PAPER - |
MARKETING COMMUNICATION
(Vocational Course - 1)

(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define the term ‘Marketing’. Explain importance of Marketing in

Modern Business. [12]
OR
Q.1) Explain importance and types of Communications with suitable
example. [12]
Q.2) (A) Describe Principles of Communication. [06]
(B) State Barriers in Communication. [06]
OR
Q.2) Explain various tools used for Sales Promotion. [12]
Q.3) Write short notes : (Any Four) [16]

(@) Public Relation

(b) Event Management

(¢c) Role of Marketing Department

(d) Any two means of Communication
() Upward Communication

(f)  Decoding and Encoding
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[3869]-131

F. Y. B. Com. Examination - 2010
TAX PROCEDURE AND PRACTICES
PAPER - |
INDIAN TAX SYSTEM
(Vocational Course - 1)

(New 2008 Pattern)

2 Hours] [Max. Marks : 40

Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]
(a) What do you mean by ‘Tax Sharing’ under Constitution of
India ?
(b) Define ‘Direct’ and ‘Indirect Tax’.
(c) Give any four advantages of Indirect Tax.
(d)  Which additional canons are advocated by other experts under
Taxation ?
(e) What does List-1l contain under Seventh Schedule to the
Constitution of India ?
()  To whom Hindu Law applies ?
() What do you understand by ‘PRECEDENT’ ?
(n) Define ‘Firm’ and ‘Firm Name’.
(i) Define ‘Constructive Res Judicata’.
() What is ‘Summons’ ?
[3869]-131 1 [P.T.O.



Q.2) Answer in 50 words each : (Any Two) [08]

(@) Explain in brief canons advocated by Prof. Adam Smith.
(b) State various disadvantages of Direct Taxes.
(c) Write note on Article 266 i.e. Consolidated Funds and Public
Accounts of India and States.
(d)  Write note on “Minor as Partner’ under S. 30 of Partnership Act,
1932.
Q.3) Answer in 150 words each : (Any Three) [09]
(a) Give difference between ‘Direct’ and ‘Indirect Taxes’.
(b) State various characteristics of Taxation in India.
(c) State briefly the Sources of Hindu Law.
(d)  Write note on ‘Joint Family’ under Mitakshara School of Hindu
Law.
(e) What are the Penalties under S. 32 of C.P.C. in respect of defaults
in attendance of a Summons ?
Q.4) Answer in 500 words : (Any One) [09]
(a) Explain Taxes of Central Government in detail.
(b) What do you mean by ‘Tax Sharing” ? Describe in detail the

provisions of the Constitution of India in respect of ‘Tax Sharing’
between Central and State Government.

[3869]-131/2



Total No. of Questions : 4] [Total No. of Printed Pages : 3

[3869]-132

F. Y. B. Com. Examination - 2010
COMPUTER APPLICATIONS
(THEORY)
(Vocational Course - II)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40
Instructions :

(1) Figures to the right indicate full marks.

(2) Draw a neat and labelled diagram wherever necessary.

Q.1) What will be the output of the following modules : (Any Four) [08]
(@ main()
{
int t1 = 4, t2 = 12;
iftl = 4 || t2 > 50)
printf(“DONE”);
else
printf(*ONCE MORE”);
¥
(b) main()
{
int x = 300, vy, z;
if(x > = 300)
y = 400;
z = 200;
printf(“\n%d %d”, vy, z);
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(c) main()
{
int i, j;
for (i = 0; i < = 1; i++)
{
forG = 0; j < = 1; j++)
printf(“%d %d”, i, j);

by
(d) main()
{
int p =7,
while(p == 0)
{ p=p-1
printf(*\n%d”, p);
by
¥
(e) #define SQUARE(X) (x*x)
main( )
{
int s1 =6, s2 = 25, s;
s = SQUARE(sL);
printf(*\nSquare of the no = %d”, s);
s = SQUARE(s2);
printf(*\nSquare of the no
b
(f  main()
{
int 1 =3 m=4,n=4
printf(*ans = %d”, (m > = n ? 100 : 200));
b
[3869]-132 2 Contd.
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Q.2) Write short notes : (Any Five) [15]

(@ Data types in C
(b) Switch Case
(c) Arrays in C
(d)  Flowchart
() \ariables in C
(H Keywords in C
(90 Do while loop
Q.3) Answer the following : (Any Three) [12]
(@ Write a C program to find factorial of a number.
(b) Write a C program to find Area of a Circle using function.
(c) Write a C program to accept 3 digit number and print sum of
5 digits.
(d) Explain Structures in C.
(e) Explain following functions :

e scanf:
o getch();

Q.4) Write syntax and give examples of the following functions : (Any Five) [05]

@)
(b)
(©)
(d)
©)
(f)
)

Stremp()
Striwr()
Strlen()
Strcat( )
Strrev()
Abs()
Clrscr()
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[3869]-133
F. Y. B.Com. / B. A. Examination - 2010

1

ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT

PAPER - 11
ADVERTISING
(Vocational Course - 1)
(New 2008 Pattern)

Time : 2 Hours] [Max. Marks : 40
Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.
Q.1) Define Advertising. Explain importance of Advertising in Modern
Marketing. [12]
OR
Q.1) What do you mean by Advertising ? Explain its advantages and
limitations. [12]
Q.2) Explain different types Advertising in detail. [12]
OR
Q.2) Explain essentials of a Good Layout for Print Media. [12]
Q.3) Write short notes : (Any Four) [16]

(@ Advertising Budget

(b) Sales Promotion

(c) Careers in Advertising and Marketing
(d)  Advertising Objectives

(e) Appeal in Advertising

()  Ethical Aspects in an Advertisement
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F. Y. B. Com. Examination - 2010
TAX PROCEDURE AND PRACTICES
PAPER - 11
STATE SALES TAX AND CENTRAL SALES TAX
(Vocational Course-II)
(New 2008 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions :

(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer in 20 words each : (Any Seven) [14]

(1) What is meant by ‘Goods’ under M.VAT Act ?

(2) What is meant by ‘Crossing Customs Frontiers of India’ under
CST Act ?

(3) Benefits available for Registered Dealer under M.VAT Act.

(4) What is the Form for Filing Return under CST Act ?

(5) What is meant by ‘Dealer’ under M.VAT ?

(6) What does ‘Tax Invoice’ mean under M.VAT ?

(7) What is the Rate of Tax on Packing Materials under M.VAT
Act ?

(8) What is the Rate of CST against Form F ?

(9) What is meant by ‘Appointed Day’ under M.VAT ?

(10) What is the Rate of Tax applicable against ‘C’ Form under CST ?

[3869]-134
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Q.2) Answer in 50 words each : (Any Two) [08]

(1) What is meant by ‘Declared Goods’ under CST ?
(2) Explain the term ‘Schedule’ under M.VAT Act.
(3) What is meant by ‘Deemed Dealer’ under M.VAT ?
(4) Discuss importance of the ‘Appropriate State’ under CST Act.
Q.3) Answer in 150 words each : (Any Three) [09]
(1) When a Sale or Purchase is said to take place in the course
of Inter-state Trade or Commerce ?
(2) Explain procedure for Cancellation of Registration under M.VAT
Act.
(3) Explain constitutional background for CST Act.
(4) Enumerate and discuss types of ‘Assessments’ under M.VAT Act.
(5) What is the use of Form ‘C’ and Form ‘F’ under CST Act?
Q.4) Write long answer in 500 words : (Any One) [09]
(1) Discuss provisions for ‘Levy of Tax’ under M.VAT Act. Which
are the Sales not liable for Tax under M.VAT Act, 2002 ?
(2) What are the types of ‘Registrations’ under CST Act ? Enumerate

advantages of ‘Registration’ under CST Act.
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[3869]-135
F. Y. B. Com. Examination - 2010

FOUNDATION COURSE
(Restructuring)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) AIll questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) What is ‘Religion” ?
(2) What is ‘Unemployment’ ?
(3) What is ‘Poverty’ ?
(4) What is “National Integration’ ?
(5) What is “‘Culture’ ?
(6) What is ‘Analogy’ ?
(7) What is ‘Productivity’ ?
(8) What is the meaning of ‘State’ ?
(99 What is ‘Society’ ?
(10) What is “‘Caste’ ?
(11) What is the meaning of ‘Crucial Experiment’ ?
(12) What is “Superstition’ ?
(13) What is ‘Indirect Democracy’ ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Write note on Self Employment.
(2) Rule of Law
(3) Write note on Privatisation.
(4) Types of Science
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) What are the various types of Unemployment in India ?
(2) What are the causes of Poverty in India ?
(3) Explain effects of Science and Technology on Agriculture and
Health.
(4) What are the merits and demerits of Indian Democracy ?
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) What are the causes of Economic Inequality in India ? Suggest
measures to reduce Economic Inequality.
(2) What are the causes of Rapid Growth of Population in India ?
Suggest measures to control the increasing population.
(3) What are the merits and demerits of Caste System ? Explain.
(4) Explain Concept of Liberty, Equality and Fraternity.
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